Division (Fraction/Decimal) Practice

Name: Date:
Question 1
Solve the division equations (the answer must contain an unsimplified fraction or decimal)
| 64+5= VI. 14+8= Xl. 60+8=
Il. 18 +4= VI. 55+4= Xll. 26+2=
. 9+2= VII. 72+10 = Xlll. 18+ 8=
V.41+10= X 18+12= XIV. 34 +4=
V.28+5= X 15+4=
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Division (Fraction/Decimal) Practice

Question 2
Show the inverse operation (multiplication) for each division equation

l 14+5=28

Il 120+16=75

Il. 7+4=175

V. 21+ 8=2625

V. 100+8=125
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Division (Fraction/Decimal) Practice

Name: Key Date:
Question 1
Solve the division equations (the answer must contain an unsimplified fraction or decimal)
| 84+5=1280R12 VI 14+8=1750R1 " Xl 60+8=750R7 +
1 23 45 6 ] .
. A 175 OR 14
128 OR 12+
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|\4. 412+13Q =44.1 OR 4+ |><.1 18+12=150R1 XV. 34+4=850R8
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V.28+5=560R5 - X 15+4=3750R3~
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Division (Fraction/Decimal) Practice

Question 2

Show the inverse operation (multiplication) for each division equation

. 14+ 5=28

Il 120+16=75

Nl. 7+4=175

V. 21+8=2625

V. 100+8=125

5-28=14

16-7.5=120

4-175=7

8-2.625=21

8-12.5=100
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